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(Time Limit: 1 seconds)
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BARAEXFE - &

RNVEFZ - REBESRESHE - A —EERFEES
N HTE LK -

BENERARA

o BRABEELTEA 4 EHEEE

o AEERIEE

o [E—(EEF FREEEEMN

o FHUNANRF—EFERE—BEEHEHE LNFE

BEFHEFTRLEEFE (AFIHEE)

Bl A\ ERER

F—IAMEZEE N A M

2<N<10:

ERER (HER NxN)

1=M: HREFHHE
EIR N 17: 81758 N BARERNFE (RZER ) AKXSithE

EEM 17

Hal b R A

HREREERT
BiTRLE—EER -

TR —Exs (EAREAEE 100)

BITRLERLBIRITEN -

BLEFBA S —K N x N g7
A - REFEEE A E P E LR ER W

PESUTE R EER HEE - &

£ B EMEPRRRIKEITEFS - AL Yes {RIEE No-

R

Samplel Input: Samplel Output:
54 Yes

ABDEC Yes

SEDIF No

BVXAD No

ERQTW

YNMPQ




TAI
DIAD
BAD
SEA




Problem 7. EA[MERBEERRHEZET(

(Time Limit: 1 seconds)
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